Verson 2.0

Baud rate: 9600 ; data bit: 8 ; stop hit: 1, verify bit: N

command format : packet head , packet length , 1D ,data type, data, check sum, packet end

1. Packet head (2 bytes)
The packet head are : Oxfe, Oxff

2 Packet length(1 byte)
Packet length is the bytes of (( datatype + ID + data + check sum))
3. Datatype( 1 byte)
Data type can be : 0x00, 0x01, 0x02, 0x03, 0x04 , 0x05, 0x06, 0x07

0x00 is the type of configuring parameters;

0x01 is the type of sending prices to the display;

0x02 is the type of reading back of parameters;

0x03 is the type of reading back of prices showing;
0x04 is the type of setting the position of decimal;

Ox05 is the type of setting the ID of the display;

0x06 is the type of

0x07 is the type of reading back the position of decimal;
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4. ID(1 byte)
ID can be 0x01~0xff

5. data(not afixed length)
the information of the card that you want to write to the card or read back from the card, they are different
for different datatype;

6. check sum (one byte)
Check sum istheresult of (packet length + 1D + data type + data)

7. packet end (one byte)
The packet end is :0xef.



Examples
1. send datato the display

FE FF 28 02 01 22 23 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 0O
00 00 00 00 00 70 EF

FE FF : packet head;

28 : 28(40) bytes(28 02 01 22 23 00 00 00 00 00 00 00 00 00 00 00 00 00 0O 0O 00 00 0O 00 00 00 00 00 00 O
00 00 00 00 00 00 00 00 00 70)

02 :id of the card.

01 : datatype (for sending data to the display)

22 23 00 : the data send should send to thefirst display;(the display will show 22 23 00)

00 00 00 : the data send should send to the second display;

00 00 00 : the data send should send to the third display;

00 00 00 : the data send should send to the fourth display;

00 00 00 : the data send should send to thefifth display;

00 00 00 : the data send should send to the sixth display;

00 00 00 : the data send should send to the seventh display;

00 00 00 : the data send should send to the eighth display;

00 00 00 : the data send should send to the ninth display;

00 00 00 : the data send should send to the tenth display;

00 00 00 : the data send should send to the eleventh display;

00 00 00 : the data send should send to the twelveth display;

70: istheresult of (28+02+01+22+23+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+

00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00)
EF : packet end

If the display receive the command correctly, the display will reply an answer:

FE AF 0502 01 00 08 EF

FE AF : reply packet head
05 - bytes of (05 02 01 00 08)

02 : idis02
01 : thereply isfor (receiving the command of sending data)
00 : receive the command correctly (01 if for wrong)

08 : check sum (05 +02+ 01 +00)
EF : packet end;

***if you just have one display ,you can shorten the data as:

FE FF 07 02 01 22 23 00 4F EF

FE FF. isfor packet head,

07 : thepacket length bytes of (07 02 01 22 23 00 4F)

01 : datatype

22 23 00: the data send should send to the first display;(the display will show 22 23 00)
4F  : check sum theresult of (07 +02+ 01 +22 +23 +00)

EF : packet end,

If the display receive the command correctly, the display will also reply an answer:

FE AF 0502 01 00 08 EF



2. read back the prices showing on the display
FE FF 04 02 03 09 EF

FE FF: packet head;

04 : packet length bytes of (04 02 03 09)

02 : Id

03 : datatype (reading back of prices showing)
08 : check sumtheresult of (04+ 02+ 03)

EF : packet end,

If the display receives the command correctly, It will reply a command as:
FE AF 28 02 03 22 23 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 72 EF

FE AF : packet head(reply);

28  :28(40) bytes(28 02 01 22 23 00 00 00 00 00 00 00 00 00 00 00 00 00 OO 00 00 00 00 0O 00 00 00 00 OC
00 00 00 00 00 00 00 00 00 00 70)

02 :idof thecard.

03 : datatype (reply for reading price showing on the display)

22 23 00 : the prices showing on the first display

000000 :

000000 :

000000:

000000 :

000000 :

000000 :

000000 :

000000 :

000000 :

000000 :

000000 :

70: check sumisthe result of (28+02+03+22+23+00+00+00+00+00+00+00+00+00+00+00+00+00+00

+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00+00 + 00)
EF : packet end



3. seting parameters

FEFF 090200000104 0001 11 EF

FE FF

09
02
00
00
01
04
00
01
11

packet head

packet length the bytes of (09 02 00 00 01 04 00 01 11)
id
data type (configuring parameters)
double sided flag (O isfor single side; 01 is for double sided)
quantity of displayson oneside (1 display)
how many digits on onedisplay (4 digits)
showing 9/10 or not (O isfor not show; 1 is showing)
the dot position (Lisfor after thefirst digit )
check sum

If the display receives the command correctly , the display will reply an answer as;

FE AF 0502 00 00 07 EF

FE AF : reply packet head
05: bytes of (05 02 00 00 07)

02:

idis02

00 : thereply isfor (receiving the command of setting parameters)
00: receive the command correctly (01 if for wrong)
07: check sum (05 +02+ 00 +00)

EF

. packet end;



4. reading back parameters

FE FF 04 02 02 08 EF

FEFF: packet head

04 : packet length bytes of (04 02 02 08)

02 id

02 data type (reading back of the parameters)
08 check sum

EF packet end;

If the display receives the command correctly, it will reply an answer as
FE AF 0B 0202 14 1A 0001 04 00 01 43 EF

FE AF
0B
02
02
14
1A
00
01
04
00
01
43

packet head
packet length the bytes of (OB 02 02 14 1A 00 01 04 00 01 43)
id
datatype (reply for reading back parameters)
the version of hardware (20)
the version of software (26)
double sided flag (O isfor single side; 01 is for double sided)
quantity of displayson oneside (1 display)
how many digits on onedisplay (4 digits)
showing 9/10 or not (O isfor not show; 1 is showing)
the dot position (Lisfor after thefirst digit )
check sum



5. setting the dot position

FEFF10020401010101010101010101010122EF

FE FF

09
02
04
01
01
01
01
01
01
01
01
01
01
01
01
22
EF

packet head

packet length bytes of (10 02 04 01 01 01 01 01 01 01 01 01 01 01 01 22)
id

data type(setting the position of decimal)
the dot position for the 1st display

the dot position for the 2nd display

the dot position for the 3rd display

the dot position for the 4th display

the dot position for the 5th display

the dot position for the 6th display

the dot position for the 7th display

the dot position for the 8th display

the dot position for the Sth display

the dot position for the 10" display

the dot position for the 11th display

the dot position for the 12th display
check sum.

packet end;

If the display receives the command correctly, it will reply an answer as;

FE AF 0502 04 00 0B EF

FE AF : reply packet head
05: packet length bytes of (05 02 04 00 0OB)

02:

04 : thereply isfor (receiving the command of setting dot position)
00: receive the command correctly (01 if for wrong)
07: check sum (05 02 04 00)

EF

. packet end;



6. reading back dot position
FE FF 04 02 07 OD EF

FEFF: packet head

04 : packet length bytes of (04 02 07 OD)
02 : id

07 : datatype (reading back dot positon)
OD : checksum

EF : packet end

If the display receive the command correctly , it will reply an answer as:
FEAF10020701010101010101010101010125EF

FEAF : reply packet head

10 : packet length bytes of (10 02 07 01 01 01 01 01 01 01 01 01 01 01 01 25)
02 : id

07 : data type(reply for sending the position of decimal)
01 : the dot position for the 1st display

01 : the dot position for the 2nd display

01 : the dot position for the 3rd display

01 : the dot position for the 4th display

01 : the dot position for the 5th display

01 : the dot position for the 6th display

01 : the dot position for the 7th display

01 : the dot position for the 8th display

01 : the dot position for the Sth display

01 : thedot position for the 10" display

01 : the dot position for the 11th display

01 : the dot position for the 12th display

25 : check sum.

EF packet end;



7. setting ID
FE FF 05 00 05 02 OC EF

FEFF: packet head

05 : packet length bytes of (05 00 05 02 OC)
00 : broadcast ID

05 : datatype(setting ID)

02 : setinglIDto02

OC : check sum;

EF : packet end,

If the display receive the command correctly , it will reply an answer as:
FE AF 0502 05 00 OC EF

FE AF : reply packet head

05 . packet length bytes of (05 02 05 00 0C)

02 tid

05 : datatype (reply for setting ID)

00 . receive the command correctly (1 for wrong)

0C :check sum
EF : packet end.



